N = 0l & At & M A

20143 & =04 LBHSIH =21t
2M: E2
M Helotn otdE E2% A5
& XeEe2 2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S22 146,735,058 178,074,875 A 31,339,817
= 20,974,000
& 49,355,000
< 76,406,058
Helotn otdst E2% 25 107,163,369 161,705,526 A 54,542,157
= 20,974,000
& 49,355,000
< 36,834,369
Ngeg 22 248,369 159,526 88,843
ANLe nsSE A 47,605 45,762 1,843
101 @124l 47,605 45,762 1,843
04 JIZHHZ2XNSE+ 47,605 45,762 1,843
OXNEE NSEXA A2 47,8603 «936H 44,797
OunNSEZALR 2HA 3,000 936 H 2,808
79 2e 50,764 50,764 0
308 XtXIEHHSOIA 50,764 50,764 0
01 AXHHIYEES 50,764 50,764 0
OXNgEs &9 2el 50,764
CEZ2HE Mt AlIAE 7X 22 150,000 63,000 87,000
201 Let24d] 150,000 63,000 87,000
02 =24l 150,000 63,000 87,000
O S2UE dA&s AIAE KRR 150,000
C2NSHEIMLALS 1,745,000 4,677,000 A 2,932,000
& 1,745,000
WEMD 2 HEAY 459,000 1,077,000 A 618,000
& 459,000
403 MHXSHHSA=0l& 459,000 1,077,000 A 618,000
= 459,000
01 HXHMA=E X 459,000 1,077,000 A 618,000
OnsSAtD 2R MHEAY 459,000
= 459,000
g0l 25729 ALY 486,000 1,440,000 A 954,000
& 486,000
403 MtXISHH S0l & 486,000 1,440,000 A 954,000
& 486,000
01 XM A2E X 486,000 1,440,000 A 954,000
O0eol B9 Ha A 486,000
& 486,000
QM B Rl EE R AY 800,000 2,160,000 A 1,360,000
& 800,000
403 XIS E X201 & 800,000 2,160,000 A 1,360,000




2M: E2
HH: Hel5l] OME TRY 1S
Ehel: S22 N SHEINL ALY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
& 800,000
01 XM A=2EE 800,000 2,160,000 A 1,360,000
Ootdst Edsd ZEAY 800,000
& 800,000
A= AERMH 1,110,000 3,259,000 A 2,149,000
= 1,110,000
RIEE2 2EMNEAEY 1,110,000 3,259,000 A 2,149,000
& 1,110,000
403 A X EHHS =0l A 1,110,000 3,259,000 A 2,149,000
= 1,110,000
01 X EHHMA=ZE L 1,110,000 3,259,000 A 2,149,000
OREEZ2 FAZMEASE 1,110,000
& 1,110,000
S DR DN e RS N o 51,500,000 87,356,000 A 35,856,000
& 46,500,000
= 5,000,000
2o-HE=XNEAHE 27,500,000 21,000,000 6,500,000
& 27,500,000
401 Al HI K 201 I 27,500,000 21,000,000 6,500,000
= 27,500,000
01 A& HI 26,844,000 20,690,000 6,154,000
2o-UHd 2XN&E A4 26,844,000
= 26,844,000
02 2eldl 650,000 300,000 350,000
O=22-0d 2XN&E A4 650,000
& 650,000
03 Al 2 THHI 6,000 10,000 A 4,000
2o-UHd 2XN& A4 6,000
= 6,000
NN NLEE HZFH(22-It3) 10,000,000 20,000,000 A 10,000,000
& 10,000,000
403 XSS A0l & 10,000,000 20,000,000 A 10,000,000
& 10,000,000
01 HIXSHHMA=2EE 10,000,000 20,000,000 10,000,000
OZE=-Ita =2k A4 10,000,000
= 10,000,000
sSL-Hl4& 2RNEAH 9,000,000 4,000,000 5,000,000
=1 5,000,000
= 4,000,000
401 AIEHI L 20 9,000,000 4,000,000 5,000,000
= 5,000,000
< 4,000,000
01 A& tl 8,689,200 3,689,200 5,000,000




SH: 2

M HolstD OME TRY PE
Chel: ZOAI A Y &I &AL (&)
SA - BB B () - MM - BES Ol &t o San HmEET

OZ22-Hl& 2XE A& 8,689,200
z 4,689,200
< 4,000,000

02 Zteltl 300,000 300,000 0
Ozn-Hi¢ FIXNE A4 300,000
& 300,000

03 A& S THHI 10,800 10,800 0
Oz-di¢ 2XNE A4 10,800
& 10,800

H3CelZE-FZUn XNEAHL 4,000,000 2,111,000 1,889,000
& 4,000,000

401 AIEHI L 20 4,000,000 2,111,000 1,889,000
= 4,000,000

01 A& HI 3,794,200 1,803,401 1,990,799
O¢sel=E-E3ln 2XNE A4 3,794,200
& 3,794,200

02 Zeltl 195,000 300,000 A 105,000
OUZelxE-E3UHY =X& A& 195,000
& 195,000

03 Al 20 HI 10,800 7,599 3,201
O¢sSel=E-E3Un 2XNE A4 10,800
& 10,800

SMIC-E=25H FXNE A4 1,000,000 500,000 500,000

401 Al HI K 201 I 1,000,000 500,000 500,000

01 A& HI 995,000 496,400 498,600
O3dIC-E=5H SN A4 995,000

03 AlE =2 THHI 5,000 3,600 1,400
OZ¢IC-E8=H 2N A4 5,000

2T U T2 ALY 20,974,000 33,413,000 12,433,000
= 20,974,000

HE(He-20)ACHRIC2 6,974,000 15,413,000 8,439,000
= 6,974,000

403 XIS S X201 & 6,974,000 15,413,000 A 8,439,000
= 6,974,000

01 X EHHMA=LE L 6,974,000 15,413,000 A 8,439,000
OF=(g8-s¢)2=UM=R3c= 6,974,000
= 6,974,000

FF(ged-25)2cUMRI==2H4 14,000,000 18,000,000 A 4,000,000
= 14,000,000

403 X SHHSA=0l& 14,000,000 18,000,000 A 4,000,000
= 14,000,000

01 X SHHMA=E X 14,000,000 18,000, 000 A 4,000,000




2N
X ZH -
L= B

el

_ (o
SN FHE - EA(EA) - MRAL 0l &t o il Bl RE2

OZF(FY-25)2=UH 23 4,000,000
= 14,000,000

Neez 3l 29,086,000 28,241,000 845,000

HMAN T T SELE S A 1,200,000 1,200,000 0

401 Al HIZ 201 8] 1,200,000 1,200,000 0

01 A& HI 1,196,000 1,195,700 300
OZcldh HHAEZ SZEHIA 1,196,000

03 Al 2 THHI 4,000 4,300 A 300
O=fclet HAETZ EZEFIA 4,000

g0 XY SEZFISAM 3,250,000 5,172,000 A 1,922,000

401 Al HIZ 2018 3,250,000 5,172,000 A 1,922,000

01 A& HI 3,242,000 5,159,100 A 1,917,100
OEH-Cs XNLE SHEZEIAM 3,242,000

03 Al 2 0HHI 8,000 12,900 A4,900
OEH-0U& XNEE SHZEHIA 8,000

ME~2H NS SEZIIA 4,500,000 3,000,000 1,500,000

401 Al HI R 201 I 4,500,000 3,000,000 1,500,000

01 A& HI 4,492,000 2,993,000 1,499,000
Ote-24d XNLE ST I M 4,492,000

03 A& =2 I 8,000 7,000 1,000
Ottd-2d XN HEIIIAM 8,000

SE~US NS SHEZIIA 2,000,000 2,000,000 0

401 AIEHI L 2CHEI 2,000,000 2,000,000 0

01 A& Bl 1,993,000 1,992,800 200
Oz=&-Us NEE =HZHIA 1,993,000

03 A& S THHI 7,000 7,200 A 200
Os&-Us N HEZIIAM 7,000

2M-X== NPT SHEZHIA 8,000,000 3,000,000 5,000,000

401 AIEHI L 201 8,000,000 3,000,000 5,000,000

01 A& HI 7,762,000 2,689,200 5,072,800
O2HM-X== N&E HEZIIA 7,762,000

02 Zteltl 220,000 300,000 A 80,000
OLXM-K= XNLE SHZTITIAM 220,000

03 A& =2 THHI 18,000 10,800 7,200
O2HM-X== N&E HEZIIA 18,000

EO-EE NEE X IA 700,000 300,000 400,000

401 AIEHI L 2CHEI 700,000 300,000 400,000

01 A& tl 698,600 297,840 400,760




2N
X ZH -
L= B

el

5 - 4
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2

OJI-2& XN SHEZIIA 698,600

03 Al 2 THHI 1,400 2,160 AT760
OSJ-2d XNgE =HZIHIA 1,400

M- a XS E SELEIA 1,000,000 300,000 700,000

401 Al HIZ 201 Y| 1,000,000 300,000 700,000

01 A& HI 994,000 297,840 696, 160
OMIH-&oja XS EHIEZA 994,000

03 A& =2 THHI 6,000 2,160 3,840
OMIH-&eoja XL SSHZIZA 6,000

A-2A XY SZZSA 1,000,000 500,000 500,000

401 AIEHI L 2 CHEI 1,000,000 500,000 500,000

01 A& Hl 994,000 496,400 497,600
O=4-g4 e SZEHIA 994,000

03 A& S THHI 6,000 3,600 2,400
O=4-24 e LI IA 6,000

gE-23 NEE SHZIIM 2,500,000 500,000 2,000,000

401 AIEHI L 201 2,500,000 500,000 2,000,000

01 A& tl 2,493,000 496,400 1,996,600
Ostd-=23 NEE SHZHIA 2,493,000

03 A& 2 THHI 7,000 3,600 3,400
Otd-=28 NLT HEZHIAM 7,000

A-ad NS SZZIA 1,000,000 0 1,000,000

401 Al HIZ 2018 1,000,000 0 1,000,000

01 A& HI 996,000 0 996,000
OlAa-&4 NEE SHIEZIIA 996,000

03 AIE 2 THHI 4,000 0 4,000
OtiA-8d NLE SHETITIAM 4,000

-2 Neeend 500,000 0 500,000

401 Al HIZ 201 Y| 500,000 0 500,000

01 A& HI 496,000 0 496,000
OFR&-23 NLE SHETTIAM 496,000

03 Al S THHI 4,000 0 4,000
OF¢-23 NEE SHEZIFIA 4,000

20l NEE SEZIIA 1,000,000 0 1,000,000

401 Al HI X 201 1,000,000 0 1,000,000

01 A& Hl 996,000 0 996,000
OZF-0I8 XNLE HZTTIAM 996,000

03 A& =2 THHI 4,000 0 4,000




2M: E2
M HolstD OME TRY PE
& XYE2 FH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O2F-01= N SHEZIIA 4,000
CHet~EHe NYE SHEFISAM 1,000,000 0 1,000,000
401 Al HI L 2Tl 1,000,000 0 1,000,000
01 Al bl 996,000 0 996,000
OUE-HE NeEE SHEZIEIA 996,000
03 Al 2 THHI 4,000 0 4,000
OCHet-td NeEE SHEZTIAM 4,000
Age =252 28 849 400,000 0 400,000
207 A RO H| 400,000 0 400,000
01 289 400,000 0 400,000
oXNge E2s8 =& 84 400,000
AL DI=2EEX 24 1,000,000 1,000,000 0
401 AIEBIZ 201 8] 1,000,000 1,000,000 0
01 A& HI 1,000,000 1,000,000 0
OXNgE 0lE=X 24 1,000,000
NEE2 ZHAMY 29 36,000 66,000 A 30,000
201 £B-2dH| 30,000 60,000 /30,000
01 At 22l 30,000 60,000 /30,000
OXNgE gRFA HMIRC S 30,000
203 YR =& 6,000 6,000 0
03 A FXH S =ZH| 6,000 6,000 0
OXNYZAY =& 6,000
=z - SHEZZ FHl 2,500,000 3,100,000 A600,000
2T SHEZZEHIEIAM 2,500,000 3,100,000 A 600,000
403 MHXISHHE X201 & 2,500,000 3,100,000 A 600,000
01 HAXSHMA=2EE 2,500,000 3,100,000 A 600,000
Ozt -sHEEZ &l 2,500,000
AN YMGE KANGALLY 4 2,617,000 2,518,550 98,450
ANAAL Y 2435t 3,000 3,000 0
Aagadst g2 =23 3,000 3,000 0
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
OHeY S5 & =3 MH 3,000
SAAHEESZ FUI 2,092,000 1,975,000 117,000
SAHECEZZU ALY 1,500,000 1,500,000 0
403 XSS X201 & 1,500,000 1,500,000 0
01 X SHHX2E = 1,500,000 1,500,000 0




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

OZAHEEZZ FHIALY 1,500,000

SAHAEAE A 592,000 475,000 117,000

403 MHXISHE X201 & 592,000 475,000 117,000

01 AXSHMA=2EE 592,000 475,000 117,000
OZAIHEAIE HE A 592,000

NEN0I 28 Aot 522,000 540,550 A 18,550

AEAHOIEE LS 500,000 500,000 0

403 XIS S K201 & 500,000 500,000 0

01 HXISH A= F 500,000 500,000 0
OX&EA OlSEAS AL 500,000

SMESE TUEAHSAD 22,000 21,800 200

307 glz2tol & 22,000 21,800 200

04 DIZISHA R F 2 22,000 21,800 200
O=sMES NAAHUHR 22,000

ME XA 189,000 171,000 18,000

NEA B0 189,000 171,000 18,000

TEMNEE E0R 189,000 171,000 18,000

308 XXM S0 A 189,000 171,000 18,000

02 w23 189,000 171,000 18,000
Oz AMNEE 630,000,000& *30% 189,000

HY2AZH (=2 1) 44,709 37,149 7,560

Jl23 4l 44,709 37,149 7,560

JI23l 44,709 37,149 7,560

201 LBr2EH| 16,359 16,359 0

01 At 2t 2l 16,359 16,359 0
OJle=+=&Htl 6,878
OJ12=2 &l 9,481

202 O4dl 28,350 20,790 7,560

01 =S LHA YI 28,350 20,790 7,560
OJI2n bl 28,350

Ne2as(=21) 36,720,980 13,642,650 23,078,330

28XE 36,720,980 13,642,650 23,078,330

=S DNES 36,720,980 13,642,650 23,078,330

311 Xt =01 X+ &f &t 1,340,480 1,333,150 7,330

03 SLZEXLS0IAtate 1,340,480 1,333,150 7,330
OXESE HHIA (2010) 915,000
OXEUW It 3 AH2010) 109,800
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